

$$1 - \frac{r_m - r}{\omega m - r} \rightarrow \frac{1}{r}$$

المقام سببي

$$r - \frac{-\gamma m}{m} = -\gamma$$

$$r - \frac{(\sqrt{m} - r)(\sqrt{m} + r)}{(\sqrt{m} - r)} \sim r + r = r$$

$$f - \frac{m}{(m + \sqrt{r m})(r m + r)} = \frac{r}{f \times v} = \frac{1}{1f} \left[\frac{(1-m)(r + \sqrt{\omega - m})}{(1-m)(1 + \sqrt{m})} \right] =$$

$$\gamma - \frac{r}{\omega} \times \frac{r v}{r} = \frac{1}{\varepsilon_0} \quad \left| \quad v - \frac{v \times r}{r \times r} = \frac{r}{r}$$

$$1 - \frac{\cos^r - \cos^r + 1}{1 - \cos} = > \left(\frac{r}{r} \right) -$$

$$9 - \frac{1}{\cos} = \frac{-r}{j_c} = -\sqrt{r}$$

$$10 - \frac{\frac{\sin^r - \cos^r}{\cos^r}}{-(\sin^r - \cos^r)} = \frac{-1}{\cos^r} = \frac{-1}{\frac{1}{r}} = -r$$